
1. P, Q and R were partners sharing profits in the ratio of 2 : 2 : 1. The firm closes its books on March 31 every year. On June 30, 2017, R died. The following information is provided on R’s death:
 (i) Balance in his capital account in the beginning of the year was Rs. 6,50,000. 
(ii) He withdrew Rs. 60,000 on May 15, 2017 for his personal use. On the date of death of a partner the partnership deed provided for the following: 
(a) Interest on capital @ 10 % per annum. 
(b) Interest on drawings @ 12 % per annum. 
(c) His share in the profit of the firm till the date of death, to be calculated on the basis of the rate of Net Profit on Sales of the previous year, which was 25 %. The Sales of the firm till June 30, 2017 were Rs. 6,00,000. 
Prepare R’s Capital Account on his death to be presented to his executors
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3. At what rater is interest payable on the amount remaining unpaid to the executor of deceased partner.[2]
4. Name the account which is opened to credit the share of profit of the deceased partner, till the time of his death to his capital account.                                                                                                                                    [2]
5. State any two deductions that may to be made from the amount payable to the lExecutor of deceased partner.[2]
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5. A, Band C are partners in a firm whose books are closed on 31st March each year. B died on 30th June,
2009 and according to the agreement, the share of profit of a deceased partner up to the date of the death
is to be calculated on the basis of the average profits for the last five years. The net profits for the last 5
years have been 2005 : Rs. 14,000; 2006 : Rs. 18,000; 2007 : Rs. 16,000; 2008 : Rs. 10,000 (Ioss) and 2009
Rs. 16,000. Calculate B's share of profits upto the date of death and pass necessary journal entry. (All
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Ans. Calculation of B's Share of Profit

Last 5 years' total profit = 14,000 +18,000 +16,000 -10,000 +16,000 =Rs. 54,000

Average profit = 54,000 / 5 = Rs. 10,800

B's share of profit = 10,800 x 1/3x 3/12 = Rs. 900
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_ Particulars
Year ended 315t March, 2007
Year ended 315t March, 2006
Year ended 315t March, 2005

ended 31st March, 2004

2,00,000
180000
210000
(loss) 1,70.000
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Pass necessary journal entries for the treatment of goodwill and P's share of profit

on his death. Show clearly the calculations of P's share of profit. (Al ndia 2008)
Ans. JOURNAL
Date | . Particulars _ LF | Amt (On | Amt (0
s Capital Alc o || 2400
' Capital Alc o || 1200
ToP's Capital Alc ‘ 300
(Being amount o goodwill adjusted ngaining rati) |
Profit and Loss Suspense A/c o | 0
ToP's Capital Alc i 10500
|

(Being 8's share of proft transferred to his capital account] |

Working Note
(i) Calculation of P's Share of Goodwill
Firm’s goodwill =¥ 90,000
P's share of goodwill = 90,000 2 / 5= ¥ 36,000, to be contributed by Q and R in their gaining
ratio. i.e. 2: 1.
(i) Calculation of P's Share of Profit
Last 4 years' total profit = 2,00,000+ 1,80,000+ 2,10,000- 1,70,000 = ¥ 4,20,000

Ps share of profit = 1,05,000 X % x% =210,500





